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QUESTION 1

Which statement is true about YAML? 

A. YAML is a Unicode-based serialization language designed around common data types 

B. YAML is designed around parsing speed over human readability 

C. YAML is widely used on the Internet as a method to mode data between webservers and AJAX clients on Web
browsers 

D. YAML follows the lowest common denominator data types and requires simple processing between different
programming environments 

Correct Answer: A 

Reference: http://yaml.org/spec/spec.pdf 

 

QUESTION 2

What is the default REST HTTPS port used on a Junos device? 

A. 3000 

B. 8443 

C. 3443 

D. 443 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ port-edit-
system-services-rest.html 

 

QUESTION 3

Click the Exhibit button. 

Which YAML form is represented in the exhibit? 

A. a mapping 

B. a set 
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C. a tuple 

D. a sequence 

Correct Answer: B 

 

QUESTION 4

What are two XML elements of the NETCONF Message layer? (Choose two.) 

A.  

B.  

C.  

D.  

Correct Answer: CD 

 

QUESTION 5

What does the statement "Ansible provides idempotent operations." mean? 

A. The result of performing the operation once is exactly the same as the result of performing it repeatedly without any
intervening actions. 

B. The result of performing the operation once is not exactly the same as the result of performing it repeatedly without
any intervening actions. 

C. The result of performing the operation once will not allow the operation to be run again without any intervening
actions to correct the failure. 

D. The result of performing the operation once will not allow the operation to be run again without any intervening
actions. 

Correct Answer: A 

Reference: https://docs.ansible.com/ansible/latest/reference_appendices/glossary.html 
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